# STUDY OF BULK SERVICE QUEUEING 

## MODEL WITH REMOVABLE SERVER

Dr. Naveen Kumar Sharma, Associate Professor<br>Rayat Bahra- Royal Institute of Management and Technology<br>naveenkapilrtk@gmail.com


#### Abstract

In this chapter we discuss a Markovian Queueing system in which service is performed by a single server in batches. The server is removed from the system as soon as the system becomes empty for a duration which is exponentially distributed. Such situations are not uncommon in our daily life. For example -The situation in a Cinema Hall, the person taking ticket one by one and enter the Hall, after the end of the movie person left the hall with random groups. This type of situation can also observe in computer system, we enter the data one by one i.e. single service and gain the out put in batches.


Keywords- Queue length, busy period, single server, joint distribution, Laplace transformation.

## Introduction

In this paper we will study the concept of a bulk service queueing system in which service is performed by single server inn batches. Medhi (1984) discuss the idea of the batch size (fixed batch size or variable batch); it depends on the unfilled capacity of the server. Bailey (1954) considered that the service batch may be fixed size-say, K. The server waits until there are K in the queue and starts service as soon as the queue reaches this size. If on completion of a batch service, he finds more than K waiting, the server takes a batch of size
k (in order of arrivals or in any other order), While others, in excess of $K$ units, and wait in the queue.

The following assumptions describe the system:-

1 Arrivals occur under Poisson, law with parameter $\lambda$.
The queue discipline is FCFS.
The service time distribution is exponential with parameter $\mu$.
4 The various stochastic processes in the system are statistically independent.
5 Services occur in batches of variable size. Service times are exponentially distributed with parameter $\mu$.
6 The server will be removed from its service as soon as it becomes empty, for exponential distribution, with parameter $\theta$.

## Notation

$\mathrm{P}_{\mathrm{i}, \mathrm{j}, \mathrm{R}}(\mathrm{t})$ - Prob. that there are exactly i arrivals and
time $t$ departures by and the server is in removed state.
$P_{i, j, B}(t)-$ Prob. that there are exactly $i$ arrivals and
jt and departure by time server is busy.
$P_{i j} \quad$ - Prob. that there are exactly i and j

Volume 3 Issue 11, November 2015

$$
(\mathrm{s}+\lambda+\theta) \overline{\mathrm{p}}_{10 \mathrm{R}}(\mathrm{~s})=\lambda \overline{\mathrm{p}}_{0,0, \mathrm{R}}(\mathrm{~s})
$$

## Initial conditions

$$
\begin{aligned}
& \mathrm{P}_{0,0, \mathrm{R}}(0)=1 \\
& \mathrm{P}_{0,0, \mathrm{~B}}(0)=0
\end{aligned}
$$

The difference - differential equations governing the system are:
$p_{\text {iiR }}^{\prime}(t)=-\lambda p_{\text {iiR }}(t)+\sum_{\mathrm{l}=1}^{\mathrm{i}} \mu \mathrm{b}_{\mathrm{l}} \mathrm{p}_{\mathrm{i}, \mathrm{i} \mathrm{I}, \mathrm{B}}(\mathrm{t})\left(1-\delta_{\mathrm{i} 0}\right)$
$\mathrm{p}_{\text {iiR }}^{\prime}(\mathrm{t})=-\lambda \mathrm{p}_{\mathrm{iiR}}(\mathrm{t})+\sum_{\mathrm{l}=1}^{\mathrm{l}=1} \mu \mathrm{~b}_{1} \mathrm{p}_{\mathrm{i}, \mathrm{i}, \mathrm{l}, \mathrm{B}}(\mathrm{t}) \quad \mathrm{i}^{3} \mathrm{~b} \quad \mathrm{i}>\mathrm{b}$
$\mathrm{p}_{\mathrm{ij} \mathrm{R}}^{\prime}(\mathrm{t})=-(\lambda+\theta) \mathrm{p}_{\mathrm{i}, \mathrm{j}, \mathrm{R}}(\mathrm{t})+\lambda \mathrm{p}_{\mathrm{i}-1, \mathrm{j}, \mathrm{R}}(\mathrm{t})$

$$
\begin{aligned}
& p_{i, j, B}^{\prime}(t)=-(\lambda+\mu) p_{i j \mathrm{~B}}(\mathrm{t})+\sum_{\mathrm{l}=1}^{\mathrm{j}} \mu \mathrm{l}_{1} \mathrm{p}_{\mathrm{i}, \mathrm{j}, \mathrm{l}, \mathrm{~B}}(\mathrm{t})+\lambda \mathrm{p}_{\mathrm{i}-1 . \mathrm{j}, \mathrm{~B}}(\mathrm{t})\left(1-\delta_{\mathrm{i}-1, \mathrm{j}, \mathrm{j}}\right)+\theta \mathrm{p}_{\mathrm{i}, \mathrm{j}, \mathrm{R}}(\mathrm{t}) \\
& 0<\mathrm{i}<\mathrm{j}, \mathrm{i}>\mathrm{j}
\end{aligned}
$$

Take L.T. of eq. (1) to eq. (4)
From eq. (1)
$\bar{S}_{\text {iiR }}(\mathrm{s})-\mathrm{p}_{\mathrm{iRR}}(0)=-\lambda \overline{\mathrm{p}}_{\mathrm{iRR}}(\mathrm{s})+\mu \sum_{\mathrm{i}=1}^{\mathrm{i}} \mathrm{b}_{\mathrm{i}} \overline{\mathrm{p}}_{\mathrm{i}, \mathrm{i}, \mathrm{B}}(\mathrm{s})\left(1-\delta_{\mathrm{i}}\right)$

$$
\overline{\mathrm{p}}_{\text {ORR }}(\mathrm{s})=\frac{\lambda}{\mathrm{s}+\lambda+\theta} \overline{\mathrm{p}}_{0,0 \mathrm{R}}(\mathrm{~s})
$$

$$
\mathrm{i}=2, \mathrm{j}=0
$$

$\mathrm{Sp}_{2,0, \mathrm{R}}(\mathrm{s})-\mathrm{p}_{2,0, \mathrm{R}}(0)=-(\lambda+\theta) \overline{\mathrm{p}}_{2,0, \mathrm{R}}(\mathrm{s})+\lambda \overline{\mathrm{p}}_{1,0 \mathrm{R}}(\mathrm{s})$
$(\mathrm{s}+\lambda+\theta) \overline{\mathrm{p}}_{20 \mathrm{R}}(\mathrm{s})=\lambda \overline{\mathrm{p}}_{1,0 \mathrm{R}}(\mathrm{s})$
$\overline{\mathrm{p}}_{20 \mathrm{R}}(\mathrm{s})=\frac{\lambda}{\mathrm{s}+\lambda+\theta} \cdot \overline{\mathrm{p}}_{1,0 \mathrm{R}}(\mathrm{s})$
$\overline{\mathrm{p}}_{2,0, \mathrm{R}}(\mathrm{s})=\frac{\lambda}{(\mathrm{s}+\lambda+\theta)} \cdot \frac{1}{(\mathrm{~s}+\lambda)} \cdot \frac{\lambda}{(\mathrm{s}+\lambda+\theta)}$
15
$S_{\mathrm{P}_{3,0, \mathrm{R}}}(\mathrm{s})-\mathrm{p}_{3,0 \mathrm{R}}(0)=-(\lambda+\theta) \overline{\mathrm{p}}_{3, \mathrm{R}}(\mathrm{s})+\lambda \overline{\mathrm{p}}_{2,0, \mathrm{R}}(\mathrm{s})$

$$
\begin{equation*}
(s+\lambda+\theta) \overline{\mathrm{p}}_{3,0, \mathrm{R}}(\mathrm{~s})=\lambda \overline{\mathrm{p}}_{2,0, \mathrm{R}}(\mathrm{~s}) \tag{4}
\end{equation*}
$$

$\overline{\mathrm{p}}_{3,0, \mathrm{R}}(\mathrm{s})=\frac{\lambda}{(\mathrm{s}+\lambda+\theta)} \overline{\mathrm{p}}_{2,0, \mathrm{R}}(\mathrm{s})$

$$
\overline{\mathrm{p}}_{3,0, \mathrm{R}}(\mathrm{~s})=\frac{\lambda}{(\mathrm{s}+\lambda+\theta)} \cdot \frac{\lambda^{2}}{(\mathrm{~s}+\lambda)(\mathrm{s}+\lambda+\theta)^{2}}
$$

$(s+\lambda) \overline{\mathrm{p}}_{\text {iiR }}(\mathrm{s})=\mathrm{p}_{\text {iiR }}(0)+\mu \sum_{\mathrm{i}=1}^{\mathrm{i}} \mathrm{b}_{\mathrm{i}} \overline{\mathrm{p}}_{\mathrm{i}, \mathrm{i}-\mathrm{l}, \mathrm{B}}(\mathrm{s})\left(1-\delta_{\mathrm{i}}\right)$
$\overline{\mathrm{P}}_{\text {OOR }}(\mathrm{s})=\frac{1}{(\mathrm{~s}+\lambda)}$

From Eq. (2)

$$
\begin{align*}
& \mathrm{Sp}_{\mathrm{iiR}}(\mathrm{~s})-\mathrm{p}_{\mathrm{iiR}}(0)=-(\lambda+\theta) \overline{\mathrm{p}}_{\mathrm{i}, \mathrm{j} \mathrm{R}}(\mathrm{~s})+\lambda \overline{\mathrm{p}}_{\mathrm{i}, \mathrm{i}, \mathrm{l}, \mathrm{~B}}(\mathrm{~s}) \\
& \quad \mathrm{i}=1, \mathrm{j}=0 \tag{.6}
\end{align*}
$$

$\overline{\mathrm{p}}_{3,0, \mathrm{R}}(\mathrm{s})=\frac{\lambda^{3}}{(\mathrm{~s}+\lambda)(\mathrm{s}+\lambda+\theta)^{3}}$
$\overline{\mathrm{p}}_{\mathrm{i}, 0, \mathrm{R}}(\mathrm{s})=\frac{\lambda^{\mathrm{i}}}{(\mathrm{s}+\lambda)(\mathrm{s}+\lambda+\theta)^{\mathrm{i}}}$
$\overline{\mathrm{p}}_{\mathrm{i}, \mathrm{O}, \mathrm{R}}(\mathrm{s})=\lambda^{i}\left\{\beta_{1, i}^{\lambda(\lambda+\theta)}(\mathrm{s})\right\} \mathrm{i}>0$

From (1)

$$
\begin{align*}
& \mathrm{S}_{\mathrm{p} \text { iiR }}(\mathrm{s})=-\lambda \overline{\mathrm{p}}_{\text {iik }}(\mathrm{s})+\sum_{\mathrm{l}=1}^{\mathrm{i}} \mu \mathrm{~b}_{1} \mathrm{p}_{\mathrm{i}, \mathrm{i}, \mathrm{l}, \mathrm{~B}}(\mathrm{~s}) \\
& (\mathrm{s}+\lambda) \overline{\mathrm{p}}_{\text {iiR }}(\mathrm{s})=\sum_{\mathrm{l}=1}^{\mathrm{i}} \mu \mathrm{~b}_{1 \mathrm{p}, \mathrm{p}, \mathrm{i}, \mathrm{~B}}(\mathrm{~s}) \\
& \overline{\mathrm{p}}_{\text {iiR }}(\mathrm{s})=\left(\frac{\mu}{\mathrm{s}+\lambda}\right) \sum_{\mathrm{i}=1}^{\mathrm{i}} \mathrm{~b}_{1} \overline{\mathrm{p}}_{\mathrm{i}, \mathrm{i}, \mathrm{l}, \mathrm{~B}}(\mathrm{~s}) \tag{7}
\end{align*}
$$

$$
\overline{\mathrm{p}}_{\mathrm{i}, 2, \mathrm{R}}(\mathrm{~s})=\sum_{\mathrm{l}=1}^{\mathrm{j}} \lambda^{i-2} \mu \mathrm{~b}_{1} \cdot \frac{1}{(\mathrm{~s}+\lambda)(\mathrm{s}+\lambda+\theta)^{\mathrm{i}-2}} \overline{\mathrm{p}}_{\mathrm{i}, 2,1, \mathrm{~B}}(\mathrm{~s})
$$

$$
\overline{\mathrm{p}}_{\mathrm{i}, \mathrm{j}, \mathrm{R}}(\mathrm{~s})=\sum_{\mathrm{i}=1}^{\mathrm{j}} \lambda^{i \cdot \mathrm{j}} \mu \mathrm{~b}_{1} \cdot \frac{1}{(\mathrm{~s}+\lambda)(\mathrm{s}+\lambda+\theta)^{i-\mathrm{j}}} \overline{\mathrm{p}}_{\mathrm{j}, \mathrm{i}, 1 \mathrm{~B}}(\mathrm{~s})
$$

$$
\begin{equation*}
b>i \geq 1 \tag{9}
\end{equation*}
$$

$$
i>j>0 \quad j<b
$$

From eq. (2)

$$
\begin{align*}
& \mathrm{S}_{\mathrm{i} \text { iR }}(\mathrm{s})=-\lambda \overline{\mathrm{p}}_{\text {iRR }}(\mathrm{s})+\sum_{\mathrm{l}=1}^{\mathrm{b}} \mu \mathrm{~b}_{\mathrm{p}} \overline{\mathrm{p}}_{\mathrm{i}, \mathrm{ill,B}}(\mathrm{~s}) \\
& (\mathrm{s}+\lambda) \overline{\mathrm{p}}_{\text {iiR }}(\mathrm{s})=\sum_{\mathrm{l}=1}^{\mathrm{b}} \mu \overline{\mathrm{p}}_{1} \overline{\mathrm{p}}, \mathrm{i}, \mathrm{l}, \mathrm{~B}(\mathrm{~s}) \\
& \overline{\mathrm{p}}_{\text {iiR }}(\mathrm{s})=\frac{\mu}{\mathrm{s}+\lambda} \sum_{\mathrm{l}=1}^{\mathrm{b}} \mathrm{~b}_{1} \overline{\mathrm{p}}_{\mathrm{i}, \mathrm{i}, \mathrm{l}, \mathrm{~B}} \quad \mathrm{i} \geq \mathrm{b} \tag{8}
\end{align*}
$$

$$
\overline{\mathrm{p}}_{\mathrm{ilR}}(\mathrm{~s})=\sum_{\mathrm{l}=1}^{\mathrm{j}} \lambda^{i-1} \mu \mathrm{~b}_{1} \frac{1}{(\mathrm{~s}+\lambda)(\mathrm{s}+\lambda+\theta)^{i-\mathrm{j}}} \overline{\mathrm{p}}_{\mathrm{j},-1, \mathrm{~B}}(\mathrm{~s})
$$

$$
\bar{p}_{i, 2,2}(s)=\sum_{\mathrm{l}=1}^{\mathrm{b}} \lambda^{\mathrm{i}-2} \mu \mathrm{~b}_{1} \frac{1}{(\mathrm{~s}+\lambda)(\mathrm{s}+\lambda+\theta)^{\mathrm{i}-2}} \overline{\mathrm{p}}_{\mathrm{j}, 2,1, \mathrm{~B}}(\mathrm{~s})
$$

$$
\overline{\mathrm{p}}_{\mathrm{i}, 3, \mathrm{R}}(\mathrm{~s})=\sum_{\mathrm{i}=1}^{\mathrm{b}} \lambda^{\lambda^{i-3}} \mu \mathrm{~b}_{1} \cdot \frac{1}{(\mathrm{~s}+\lambda)(\mathrm{s}+\lambda+\theta)^{\mathrm{i}-3}} \overline{\mathrm{p}}_{\mathrm{j}, 3,1, \mathrm{~B}}(\mathrm{~s})
$$

$$
\overline{\mathrm{p}}_{\mathrm{i}, \mathrm{j}, \mathrm{R}}(\mathrm{~s})=\sum_{\mathrm{i}=1}^{\mathrm{b}} \lambda^{i \cdot \mathrm{j}} \mu \mathrm{~b}_{1} \frac{1}{\mathrm{~s}+\lambda(\mathrm{s}+\lambda+\theta)^{i \cdot \mathrm{j}}} \overline{\mathrm{p}}_{\mathrm{j}, \mathrm{j}, \mathrm{~B}}(\mathrm{~s})
$$

From Eq. (1)

$$
\begin{align*}
& (s+\lambda) \bar{p}_{\text {iiR }}(s)=\mu \sum_{i=1}^{i} b_{1} \overline{\mathrm{p}}_{\mathrm{i}, \mathrm{i}, 1, \mathrm{~B}}\left(1-\delta_{\mathrm{i} 0}\right)  \tag{10}\\
& \overline{\mathrm{p}}_{\mathrm{i}, 1, \mathrm{R}}(\mathrm{~s})=\sum_{\mathrm{i}=1}^{\mathrm{j}} \lambda^{i-1} \mu \mathrm{~b}_{1} \cdot \frac{1}{(\mathrm{~s}+\lambda) \cdot(\mathrm{s}+\lambda+\theta)^{\mathrm{i}-1}} \overline{\mathrm{p}}_{\mathrm{j}, \mathrm{l}, 1, \mathrm{~B}}(\mathrm{~s}) \begin{array}{l}
\overline{\mathrm{p}}_{10 \mathrm{~B}}(\mathrm{~s})=\lambda \theta \frac{1}{(\mathrm{~s}+\lambda)(\mathrm{s}+\lambda+\mu)(\mathrm{s}+\lambda+\theta)} \\
\\
\\
\overline{\mathrm{p}}_{2,0, \mathrm{~B}}(\mathrm{~s})=\frac{\lambda^{2} \theta}{(\mathrm{~s}+\lambda)(\mathrm{s}+\lambda+\mu)(\mathrm{s}+\lambda+\theta)^{2}}
\end{array}
\end{align*}
$$

Volume 3 Issue 11, November 2015
$\bar{p}_{i, 0, B}(s)=\lambda^{i} \theta \sum_{K=0}^{i-1} \frac{1}{(s+\lambda)(s+\lambda+\mu)^{1-K}(s+\lambda+\theta)^{K+1}}$
$\bar{p}_{i 0 B}(s)=\lambda^{i} \theta \sum_{K=0}^{i-1} \beta_{1-K, K+1,1}^{(\lambda+\mu)(\lambda+\theta)}(s)$

i > j > 0
Taking Laplace inverse transformation of equation (5),(6), (7),(8), (9)
$\mathrm{p}_{00 \mathrm{R}}(\mathrm{t})=\mathrm{e}^{-\lambda \mathrm{t}}$
$\mathrm{p}_{\mathrm{iOR}}(\mathrm{t})=\lambda^{\mathrm{i}} \beta_{1 . \mathrm{j}}^{\lambda(\lambda+\theta)}(\mathrm{t})$
...(12)
$\mathrm{p}_{\text {iiR }}(\mathrm{t})=\frac{\mu}{\mathrm{s}+\lambda} \sum_{\mathrm{i}=1}^{\mathrm{b}} \mathrm{b}_{\mathrm{i}} \mathrm{p}_{\mathrm{i}, \mathrm{i}-1, \mathrm{~B}}(\mathrm{t})$
$p_{i, j R}(t)=\mu \cdot \lambda^{i-j} \sum_{l=1}^{j} b_{1} \cdot \beta_{1, i-j}^{\lambda(\lambda+\theta)} p_{j, j-1, B}(t) \ldots($
14)
$\mathrm{p}_{\text {iiR }}(\mathrm{t})=\frac{\mu}{\mathrm{s}+\lambda} \sum_{\mathrm{l}=1}^{\mathrm{i}} \mathrm{b}_{1} \cdot \mathrm{p}_{\mathrm{i}, \mathrm{i}-1, \mathrm{~B}}(\mathrm{t})$
...(15)
$\mathrm{p}_{\mathrm{ij} \mathrm{R}}(\mathrm{t})=\sum_{\mathrm{l}=1}^{\mathrm{j}} \lambda^{\mathrm{i}-\mathrm{j}} \cdot \mu \mathrm{b}_{1} \cdot \beta_{\mathrm{i}, \mathrm{i}, \mathrm{j}}^{\lambda(\lambda+\mathrm{e})}(\mathrm{t}) \cdot \mathrm{p}_{\mathrm{j}, \mathrm{j}, \mathrm{l}, \mathrm{B}}(\mathrm{t}) \ldots$
(16)
$\bar{p}_{\mathrm{iOB}}(\mathrm{t})=\left(\lambda^{\mathrm{i}} \theta\right) \sum_{\mathrm{K}=0}^{\mathrm{i}-1} \beta_{1, \mathrm{i}-\mathrm{K}, \mathrm{K}+1}^{(\lambda+1)(\lambda+\theta)}$


From the Laplace equation
$\sum_{\mathrm{i}=0}^{\infty} \sum_{\mathrm{j}=0}^{\mathrm{i}}\left\{\overline{\mathrm{p}}_{\mathrm{ijR}}(\mathrm{s})+\overline{\mathrm{p}}_{\mathrm{ijB}}(\mathrm{s})\left(1-\delta_{\mathrm{ij}}\right)\right\}=\frac{1}{\mathrm{~S}}$
From the Laplace inverse transformation
$\sum_{\mathrm{i}=0}^{\infty} \sum_{\mathrm{j}=0}^{\mathrm{i}}\left\{\mathrm{p}_{\mathrm{ijR}}(\mathrm{t})+\mathrm{p}_{\mathrm{ijB}}(\mathrm{t})\left(1-\delta_{\mathrm{ij}}\right)\right\}=1$
Hence the verification

1) Exactly i units arrive by time $t$ is

$$
\overline{\mathrm{p}}_{\mathrm{i} 0}(\mathrm{~s})=\sum_{\mathrm{j}=0}^{\mathrm{i}}\left\{\overline{\mathrm{p}}_{\mathrm{ijR}}(\mathrm{~s})+\overline{\mathrm{p}}_{\mathrm{ijB}}(\mathrm{~s})\left(1-\delta_{\mathrm{ij}}\right)\right\}
$$

$\stackrel{\rightharpoonup}{p}_{i 0}(s)=\frac{\lambda^{i}}{(s+\lambda)^{i+1}} ; i>0$
Laplace inverse of Eq. 18 is

$$
p_{i 0}(t)=\left\{\frac{(\lambda t)^{i}}{\underline{i}} \cdot e^{-\lambda t}\right\}
$$

The arrivals follow a Poisson distribution the total number of arrivals is not effected by vacation time of the server that is ' $\theta$ '.
2) The mean number of arrivals are

$$
\begin{equation*}
\sum_{\mathrm{i}=0}^{\infty} \mathrm{ip}_{\mathrm{i} 0}(\mathrm{~s})=\frac{\lambda}{\mathrm{s}^{2}} \tag{19}
\end{equation*}
$$

Laplace inverse of Eq. 19

$$
\sum_{\mathrm{i}=0}^{\infty} \mathrm{ip}_{\mathrm{i} 0}(\mathrm{t})=\lambda(\mathrm{t})
$$

This shows the mean number of arrival in time (t).

## References:

[1] Adan I. J. B. F, Single-server queue with Markov-Dependent Inter-Arrival and Service Times, Queueing Systems, vol. 45, Iss. 2, 2003,pp. 113-134 (22).
[2] Chaudhary M. L and Gupta U.C., Queue length and waiting time distribution of discrete time GI/Geom.? Queueing system early and late arrivals Queueing system Vol. 25 , 1997, pp. $307-324$.
[3] Chaudhary G, An MX/G/1 queueing system with a setup period and a vacation period, Queueing Systems, vol. 36, iss. 1-3, 2000, pp. 23-38(16).
[4] Irvani S.M.R., K.L, Luangkesorn, Simchi-Levi, A general decomposition algorithm for parallel queues with correlated arrival queuing system, vol. 47, 2004, pp. 313344.
[5] Ke. J-C, The analysis of a general input queue with N policy and exponential vacations, Queueing System, vol. 45, iss. 2, 2003, pp. 135-160.
[6] Sharda and Indra, Explicit Transient and Steady State Queue length probabilities of a queueing model with server on vacation providing Service Intermittently, Microelectronic Reliab. vol. 35, No. 1,1995, pp. 117-129.
[7] Tuteja, R.K, Some studies in the theory of queues with special reference to correlated queueing. Ph.D. Thesis, (1967)

## Kurukshetra University, Kurukshetra

[8] Zhang Z.G. and Tian N., Analysis of queueing systems with synchronous single vacation for some servers Queueing Systems, vol. 45, iss. 2, 2003, pp. 161-175(15).

